# Bid Tabulation Packet for Solicitation J2114514B1

# THERMOPLASTIC PAVEMENT MARKING MATERIAL AND GLASS BEADS

**Bid Designation: Public** 



#### **Broward County Board of County Commissioners**

## Bid #J2114514B1 - THERMOPLASTIC PAVEMENT MARKING MATERIAL AND GLASS BEADS

Start Date Jun 5, 2017 3:17:10 PM EDT Awarded Date Not Yet Awarded

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Potters Industries, LLC [Ad]	First Offer - \$0.00	250 / ton	\$0.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: NO B			
ENNIS PAINT INC. [Ad]	First Offer - \$1,038.00	250 / ton	\$259,500.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code: 884102 Supplier Notes:			
Ozark Materials [Ad]	First Offer - \$1,097.00	250 / ton	\$274,250.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	<b>de:</b> 11308-05		
Swarco Industries, LLC.	First Offer - \$1,110.00	250 / ton	\$277,500.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code: Swarcotherm Supplier Notes:			
The Sherwin-Williams Company	First Offer - \$1,120.00	250 / ton	\$280,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Traffic Supplies and Distribution [Ad]	First Offer - \$1,125.95	250 / ton	\$281,487.50	•	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Potters Industries, LLC [Ad]	First Offer - \$0.00	250 / ton	\$0.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: NO			
ENNIS PAINT INC. [Ad]	First Offer - \$942.00	250 / ton	\$235,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: 884103 Supplier Notes:			
Ozark Materials [Ad]	First Offer - \$1,019.00	250 / ton	\$254,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: 21308-05 Supplier Notes:			
The Sherwin-Williams Company	First Offer - \$1,040.00	250 / ton	\$260,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Swarco Industries, LLC.	First Offer - \$1,042.00	250 / ton	\$260,500.00	Υ	Υ
		Supplier Product Code: Swarcotherm Supplier Notes:			
Traffic Supplies and Distribution [Ad]	First Offer - \$1,052.95	250 / ton	\$263,237.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

### Broward County Board of County Commissioners

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ENNIS PAINT INC. [Ad]	First Offer - \$590.00	130 / ton	\$76,700.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode: 651509FL		
Swarco Industries, LLC.	First Offer - \$620.00	130 / ton	\$80,600.00	Υ	Υ
		Supplier Product Code: Swarco Type I Supplier Notes:			
Potters Industries, LLC [Ad]	First Offer - \$630.00	130 / ton	\$81,900.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Pott		0.00/ton	
Traffic Supplies and Distribution [Ad]	First Offer - \$649.00	130 / ton	\$84,370.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Ozark Materials [Ad]	First Offer - \$700.00	130 / ton	\$91,000.00		Υ
		Supplier Product Code: BEA1017 Supplier Notes:			
The Sherwin-Williams Company	First Offer - \$1,000.00	130 / ton	\$130,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Consumplier Notes: Ver information attached (Consumplier Notes)	ndor Questionnaire - Qu	iestion # 1	

Supplier Tota	als			
f Potters Inc	dustries, LLC [Ad]	\$81,900.00 (3/3 ite	ems)	
Bid Contact	Yvonne Harris yvonne.harris@pottersbeads.com Ph 800-552-3237 Fax 610-408-9723	Address P.O. Box 841  Valley Forge, PA 19482		
Supplier Code	VC0000008565			
Bid Notes	Domestic Partnership Requirement \$100,000.00	nership Requirement is not applicable because Potters offer is less than		
Agency Notes:		Supplier Notes:  Domestic Partnership Requirement is not applicable because Potters offer is less than \$100,000.00	Head Attch:	
f ENNIS PAI	NT INC. [Ad]	\$571,700.00 (3/3 items)		
c P	ane Alsabrook ontracts@ennisflint.com h 469-522-5864 ax 336-475-7900	Address P.O. BOX 160 Thomasville, NC 27361		
Agency Notes:		Supplier Notes:	lead Attch:	
f Swarco Inc	dustries, LLC.	\$618,600.00 (3/3 items)		
Bid Contact	Roseann Meredith roseann.meredith@swarco.com Ph 931-388-5900 Fax 931-388-4039	Address P.O. Box 89 Columbia, TN 38402		
Supplier Code	VC0000011749			
Agency Notes:		Supplier Notes: H	ead Attch:	

		County Commissioners 4 o	ıt 4
f Ozark M	laterials [Ad]	\$620,000.00 (3/3 items)	
Bid Contact	Janet Reaves bids@ozarkmaterials.net Ph 334-371-2309	Address 591 Glendale Avenue Greenville, AL 36037	
Agency No	tes:	Supplier Notes: Head Att	tch:
f Traffic S	Supplies and Distribution [Ad]	\$629,095.00 (3/3 items)	
Bid Contact	Martin Warner mwarner@tsdist.com Ph 352-263-0646 Fax 772-429-3458	Address 3501 S Sanford Ave Sanford, FL 32773	
Bid Notes	Truckload quantity of Thermoplas	stic can be split for more than one color.	
Agency No	tes:	очерно на	lead ttch:
f The She	rwin <b>-Williams Company</b>	\$670,000.00 (3/3 items)	
Bid Contact	Brandy Reed brandy.reed@sherwin.com Ph 800-597-2929 Fax 216-774-1875	Address 101 Prospect Ave, 720 GH Cleveland, OH 44115	
Agency No	tes:	Supplier Notes: Head Attch:	